LES LADIES VOUS PROPOSENT DE JOUER CET HIVER

Classement au 13/02/2025

17

l'éclectique

24,5a35,9

égorie

Cat

3

PAR 3

BOGEY OU PLUS

=
o
20
£z
]
3 n © © ~ ~ ) n o o — - ~ ~ ~ 1 ™ < — n [} @ [=} )
3 o =] o — — — — — I ~ ~ ~N ~ ~ ™ ™ ™ < < N - S X (=} o o
= i i — - Ll i i — - Ll i i — - Ll i i i - - i
=
S
S
w OO OIN|O(F O OO BB KKl ol KR ESe R Sel PN PN Ao el ISR RS KR A Kl g DeB RS Kol d A Kl T|O|IT(OIT ||| <t ™ (o8 BE RS ETol B lTol Ay (AR AN o< <
3
©»
N[O (PO T (T[T 474 ST S (TS| TS (VO (F(V|IFTVVOITF VWV IFVOB VOIS (OO (FVIT TV OIMNLILIVIVILVOIT|(WON|IW|(W N~ <
I OOVISF VOIS |TF|OIM| O[O 575 ouvvvivIvLILICIOILIVLIOIVLI©CICJIO(CIOJO[OIMINININIV|O|OJO|OMNJOIMNIMNIVIVIOIWV|O|OJO|INODJO|N([O O ~|© ~
LluwvolvjololsF|VL]L|W|© 676 wljlo|lojolv(fwojlo|o|o|JOo|MNMNIOLILIVIVIOIV[(COIOINIMNIWOIN|OJO(SF(CJO|OINIOINININIOID|O(N|N]O©(( oo ~|© ~
L0 | T (T (T[T (T (T |0 |0 474 o tT|IF v lT(F(F|T(VLVIT TVIVIVO| IS T TS TV |F(VOIFTVFTIVIVLITOIMNIO|(WLO TN ININIS | w (v ©
Rl AR Rl Al AR A A 474 TS| FO (TS| F (O T | FFTO (S [T S F|F(OOIO OO T TS (T |F|O] T T (S| F|O| T (T O ]O|[O N0 ~|eo w
| (TR T[T OO WO || 474 T S (||| F O (TS (T (T (T (TS (||| STV (N F|OV VO F|OITFT|OINIO(ONIT|(ON || ©|© <
MmN lN|O|F[O OO0 (< 3_3 OIS ST (TR D[RO O IR DO T (O WO T (IO TF (OO ST TR [O (T ST (T[T | FTF|OO]F|OIN|T (T |TF T [(O(O)T|O < (0 ©
N[OOI N O TS 374 S|t T |00 (S| S (O [TV T ||V (T TV (T (T (| TV TV (ON O[O < (< w
NI | ST T[T T (T T (T TR OO (DT F (TR T (OO WO OIS T OID T (TR F (TR FTO|F (T (F|O WO FIF|OO|F|F(OO DT IO O~JO(W0O[O 0| © (0 <
s = 0 o o) o = = “ o o % - o - = = = = < “ o < = * < <
s 9 o e i X % S o P R < @ ol o o < = < < < o S < < < o
a S & & a & B a o & o o a & & & 3 & & B & & & @
<
=
g o o © N e g
= < 1 Q <
an [5) = g () = o g = < ) = =i <
Q = o = g g w = k= > | = ~ = g o 2 = ) 5 P Z < 3 3
E |l a |z = O Sl 8| =% | g £ 2 el E| = 2 = | 21 5| €| % 2| 3 = g
k] Q =] - = ] = < o = o < o] o
£ RO 2 < o o =) 2 Z = g = < Q - =] = = —
S < = = n 2 O @ Q =} @] E] 2 P = Q ) = bS] °
5] Q o < <3 £ E i) R 1 s N 2
4 < 7 » Z A o0 m = 0 [am g a p £ =) O &3] = = > ) (=] <= = — >
) 14 =1 = = Q I=1 [>) m 1)
[} en = 5} [= s o ) = < - > ©n e =¥ &) o > o
~ 2 8 g 2 2 5 = 2 > £ =0}
9 ) £ g = g 2 g ] 2 B g 3 =2 s = N g o = < < g g 5 2,
S T - T =T - I I I O =T O - T B - S (- = - - T = I - - =
o) ~ = 3] ) G Z 2] 9 3 E ) S = = = N 2 Bt = 2 o m m
= /M &) 3 e g < < 2 &) - A ) 2
3 = X M = ) 2
> n
[
o

Nbre de

12




